
PulloutKeyboardShelf Instructions
for AV Cart
Thank you for choosing our product! We strive to provide the best quality and services for our customers.

Would you kindly share your experience on Amazon if you are satisfied? Should you have any issues, please

don't hesitate to contact us.

Supplied Parts

No. Description Picture Qty.

① Lower shelf 1

② Top shelf 2

③ Rubber ring 2

④ Non-slip mat 1

⑤ Swivel casters 4

⑥ Lower support 4

⑦ Upper support leg (angle frame) 4

⑧ Rear plate 1

⑨ Left and right plate 2

⑩ front door 1

⑪ Tray 1



⑫ Tray guide 2

⑬ Tray guide 2

⑭ Electric outlet 1

⑮ Power socket bracket 2

⑯ M6 socket head 12

⑰ M6 round head 28

⑱ M4 round head 4

⑲ M4 self tapping screw 4

⑳ M4 nut 4

㉑ lock 1

㉒ handle 1

LNSTALLATION STEPS：

1. Collect parts ①，⑥，⑰, Put the top shelf of part

① on flat surface, fix the bracket leg and Top shelf
with M6bolts

2.Collect parts⑤,⑧，⑨，⑩，⑯ Inset caster into

the universal caster holes on the top shelf.



3. Collect⑪，⑫，⑬，⑰，⑱, ⑲，⑳, for installation and complete the installation of flying wing components。Collect ⑩，

㉑，㉒and install the tray

4.Collect parts② ③ ④ ⑦ ⑭ ⑰ , fix the bracket leg and bottom shelf with M6 screws , fix the bracket

leg and bottom shelf with M6 screws , take the rubber ring into hole of bottom shelf, then put the nlip mat
oon-sn the shelf.

5.Finished product


